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Assignment 9
 (USE significant figures for each question!)
1.  How much work is done by a force of 5.52 N that operates over a movement of 3.07 m? 16.9 J 
2. Determine the energy contained in the soccer ball. The ball has a mass of 0.4250 kg and is at a height of 150 cm from the ground.   6.2 J

3. Gold has a specific heat of 0.129 J/(g×°C). How many joules of heat energy are required to raise the temperature of 15 grams of gold from 22 °C to 85 °C? 120 J
4. Calculate the potential energy of a rock sitting on a cliff that is 27 m high. The rock has a mass of 55 kg. 14 000 J
5. Calculate the work done by a 47 N force pushing a pencil 0.26 m. 12 J
6. Graphite has a specific heat of 0.709 J/(g×°C). If a 25 gram piece of graphite is cooled from 35 °C to 18 °C, how much energy was lost by the graphite?   -3.0 x 102 J 
7. A luggage carrier is pulled 50.0 m with a force of 30.0 N, how much work is done on the carrier? 1.50 x 102 J 
8. An automobile is sitting on a hill that is 20 m higher than ground level. Find the mass of the automobile if it contains 362 600 J of energy.  2000 g
9. If 335 g of water at 65.5 °C loses 9750 J of heat, what is the final temperature of the water? Liquid water has a specific heat of 4.18 J/(g×°C).   58.5 °C
10. You are moving to a new apartment. Your weight is 685 N and your belongings have a weight of 915 N. How much work does the elevator do lifting you and your belongings 5 stories (15.2 m)? 24 300 J
11. When the winter arrives a woman lifts a box filled with her summer clothes to the top shelf of her closet, a distance 1.8 m above the floor. If the clothes weigh 150 N, how much work is done lifting them? 270 J
12. A man climbs onto a wall that is 360 cm high and gains 2268 J of potential energy. What is the mass of the man? 64 kg 
13.  A 805 g ball is pulled up a slope that is 50 cm. What is the potential energy it gains? 4 J
14. Rita is out with her friends. Unfortunately her car breaks down. Rita and her friends apply a cumulative force of 1080 N to push the car 218 m to the nearest service station. Determine the work done on the car. 235 000 J
15. UNIT CONVERSIONS (use factor-label method)

a) If a paper clip weighs approximately one gram, estimate how many paper clips will be in a 0.5 kilogram box of paper clips.   500 paperclips
b) To get electrical power to an air compressor, 60 feet of wire is needed.  A 15-meter roll of wire is to be used.  Will there be a sufficient amount of wire to complete the job?   18.28 m is needed for 60 feet, 1 roll is not enough
c) Convert 75 ml to deciliters. 0.75 dL
d) Convert 5.0 x 103 mL to liters. 5 L
e) Convert 0.0004 m to mm. 0.4 mm 
f) Convert 6896 seconds to weeks.  0.0114 week
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